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‘Warksheot 7.4; Groatest Commun Factors

What isthe greatest comman factar?

ke factar or GCF is the andlor the high
divide evenly into all the terms of a polynomial (i, the greatest factor that is comman to all the
orms)

tor for each set of numbers.
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GCF=7 GCF *3

(Hint: Divide the given numbers by prime facters such as 2, 3, 5, 7, 11, 13, 17,
19... evenly until you reach 1.) S —
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Greatest Common Factors for Varisbles

Example2:
Find the greatest common factor for each set of variables
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(Hint: GCF for varibles is the variable with the lewest expenent.)
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Find the GCF fo each st of tem,
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Answers 3.3 22, () 125, 0 7, @, 19*
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Warlahest 75: Commen Factaring
Factoring iswriting an exganded polynumialin it factored form,
Compare @"b” and 63 + 21
Factoring is the epposite of expanding ...
, o fuctaringis . divigion

> e ey s of  polnoial o be dridd by th s b o i), th e
or vasiable(s)is called a comman factar.

Expandi

What isthe greatest comman factor?

actor or GCF is andior the can divide

ical coeffcients of the terras (the mumbers)
e parts of the terms (the variables)

By the product of the GCF(s) from Steps 1 and 2
Step 4 Wirite the Factored form of the polynomial with hrackets as the answer

Example 1: Factor cach polynomial
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Prime factors
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2. Factor 9x+36 GCF for the GCF for the vasiables
'1(’[1‘3—) 'g
« 120 - 42y GCF for the aumber Gcrr the varisbles
6(% pebd &
w = 6x7
r 9 12y+§\ GCF for the aumbers = GCF forthe variables =
5 Factor 45 +28 GCE for the aumbers = GCF for the variables =
6 Factor 15x7 ~ 355 GCE for the mumbers = GCF for the variables =
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